
1-22. sorularda, cümlede boş bırakılan yerlere uygun düşen kelime ya da ifadeyi koyunuz.

1-
If you don't have to drive anywhere today, just stay at home as the ice storm has made the roads extremely……….  .


A)
hazardous 
B) 
winding 


C) 
speedy
D) 
steady 

E) 
harmful

2- 
I don't have time to hear every detail, so I’d just like you to…….the report.

A) 
extend
B) 
declare

C) 
summarise
D) 
admit      


E) 
simplify

3-
The motorway was closed while the police cleared the …….of the accident, involving two buses, a lorry and a car.

A) 
evidence
B) 
waste

C) 
excess
D) 
wreckage    


E) 
mixture

4-
After several glasses of wine, Uncle Tom became very ……….  and started to laugh and sing loudly.

A) 
alert 
B) 
regular

C) 
deceptive 
D)
merry

E)
reserved

5-
When she looked down from the top of the Eiffel Tower, the sight was so  ………. that Delia gave a cry of slam.

A) 
intact  

B) 
magnificent

C) 
troubled 

D) 
awesome

E) 
accessible
6-
Keith is………strong for his size -though he is only a tiny man, he carried the dishwasher on his back up to the third floor.

A) 
remarkably
B) 
barely

C) 
entirely
D) 
formerly     



E) 
widely 
7.   When the policeman indicated that I should ......, I knew he was going to give me a ticket.

A) 
hold off
B)
hand in 


C)
pull over 
D)   takeover 


E) 
wipe out                     

8.   Jan....... her former roommate at a supermarket yesterday. Before yesterday, they hadn't seen each other for nearly five years.

A) 
wore out   
B)
ran into 
C) 
made out            
D) 
lived on

E) 
carried out
9-
Unless you move……..car from the entrance of the garage, it will be in the way when your father brings……..home.

A) 
my/its

B) 
your/his

C) 
mine/him

D) 
ours/itself    
E) 
yours/himself

10-
For the price of sending a letter to Europe, ......... is 60p, you can only buy a cup of coffee at Tom’s Restaurant on 113th Street.

A) 
that
B) 
when

C)
which
D) 
where 
E) 
what

11-
I find the weather today simply………to play tennis - let's go swimming instead.

A) 
the hottest 
B) 
so hot as

C) 
hotter than 
D) 
as hot 

E) 
too hot

12- 
I'm not really sure……………my answer …….this question.

A)
of/with 
B) 
about/to 

C) 
over/on
D) 
with/for 

E) 
for/about

13-
We go to the Mediterranean every year. Why don't we go somewhere else this year ………?    

A)
for a change 

B) 
in the end 

C) 
in addition

D) 
by no means  
E) 
on average

14- 
The book doesn't say whether these plants will flourish in indoor conditions, ……….?

A) 
will it
B) 
does it

C) 
do they
D) 
won't they    

E) 
doesn't it

15-
Since only a few of us want to see this film now, shall we go and see it………. time?

A) 
the other 
B) 
other

C) 
another    
D) 
others     

E) 
the others

16- 
He studied very hard......... do as well as possible in the exam.

A) 
so that

B) 
in case

C) 
because

D) 
whereas      
E) 
in order to

17-
It will be easier to get to work by train ……. the work on the railway is finished.

A) 
until
B) 
while

C) 
once
D) 
by the time     
E) 
despite

18-
This book……that the Earth…..by aliens since ancient times.

A)
is claiming/was visited


B) 
claimed/has been visiting

C) 
has claimed/was visiting


D) 
claims/has been visited

E) 
had claimed/would be visited

19-
The other day, I………the man who……… the president's speeches before he had an accident.

A)
met/used to write


B)
have met/had written

C)
meet/could have written

D)
was meeting/has written

E)
had met/has been writing

20- 
While you ………with your exams here, I………on the beach in Florida.

A)
were struggling/have lain

B)
have been struggling/lay

C)
will have struggled/lie

D)
will struggle/am going to lie

E)
are struggling/will be lying

21-
Sir Walter Scott ......... Father of the Historical Novel because he ……… a pattern for this type of fiction that is still followed.

A)
was calling/has set



B)
is called/set

C)
has been called/sets


D)
was called/is setting

E)
had called/was setting

22-
I'm afraid the weather is turning cold. I wish we ……….. some warm clothes with us.

A)
have brought                  

B)
are bringing

C)
should have brought      

D)
had brought

E)
must have brought

23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
A feature common to many of the islands of

Melanesia is (23).........of having very steep

slopes. These occur because of the very heavy rainfall, which causes the rocks to erode and decay quickly, thus producing soil rapidly. But the soil is (24).........it slides easily, exposing more rock, and thus steep slopes are maintained. Not (25).........the heavy growth of forest that covers these steep slopes (26)......... the soil in place. Because of steep slopes and rugged terrain, many parts of Melanesia, and especially New Guinea, are rather empty of people, who tend to cluster (27).........life is easier. In New Guinea very large numbers of people live in highland basins in the interior of the island. Here is flat land surrounded by rugged mountains, and the population is very dense.

23. 

A) 
that 
B) 
much

C) 
what 
D) 
more

E) 
where

24.

A) 
so wet that

B) 
wetter than

C) 
the wettest

D) 
as wet as

E) 
too

25.

A) 
only 
B)
also

C) 
even
D)
well

E)
any

26.

A) 
is kept

B) 
ought to keep

C) 
must be kept

D) 
would rather keep

E) 
can keep

27.

A) 
whom 
B) 
where

C) 
whose 
D) 
how

E) 
that

28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
Singapore's Nonya cuisine was developed by descendants of the Chinese called Peranakans, (28).........families - many of (29).........of Malay descent - (30).........in the area for generations now. The Peranakans incorporated Malay food, clothing, and culture into their lifestyles (31).........retaining many Chinese traditions. As a result, the food is an interesting blend of Malayan/Indonesian and Chinese. During the 1980s, the government of Singapore actively encouraged the preservation of the Peranakan culture. (32) ……… resulted in a permanent exhibit at the National Museum and the restoration of numerous Peranakan houses.
28.


A) 
their 
B)
whose

 
C) 
whom
D)
those

E)
themselves

29.

A) 
them 
B) 
where

C) 
whom
D) 
themselves

E)
that

30.


A) 
were living

B) 
are living

C) 
had lived

D) 
have lived

E) 
live

31.

A) 
how 
B) 
much
C) 
while
D) 
more

E) 
till

32.

A) 
How 
B) 
Such
C) 
Either
D) 
Where

E) 
This

33 – 42. sorularda, yarım bırakılan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

33-
…………. , but I'd guess he must be about sixty.

A)
My husband will phone the tour company and ask the price of the trip to Egypt

B)
I don't remember how much the shop assistant told us those jeans cost

C)
I don't know exactly how old Tim's father is

D)
Frank weighed himself and was horrified to see he is eight kilos

E)
Tom may be heavier than you, but don't forget that he is also taller

34- 
If you're not sure how to spell a word, .. .

A) 
one must first learn how to pronounce the English alphabet

B) 
you should look it up in a dictionary

C) 
homophones are words that sound the same

D) 
it is because, in Turkish, every sound is represented with a symbol

E) 
then you should have avoided using them in your essay

35-
…….., most citizens of the sultanate actually live in poverty.

A)
Since the Sultan of Brunei is one of the wealthiest people in the world

B)
Considering that the largest concentration of urban population is in Brunei's capital, Bandar Seri Begawan

C)
Because Brunei earns billions of dollars a year from petroleum exports

D)
When Queen Elizabeth paid an official visit to the Sultan of Brunei in early 1998

E)
Although the average income in Brunei is among the world's highest

36-
The cost of living in Alaska is extremely high, ………  .      

A) 
as the price of petrol there is surprisingly low

B) 
whereas Eskimos live in ice houses called igloos

C) 
due to the fact that only about 500,000 people live there

D) 
unless you really enjoy extremely cold weather and snow

E) 
because nearly everything has to be imported

37-
In Africa, summer starts in the middle of December, …….. .     

A) 

however, the inhabitants don't have much opportunity to take advantage of this

B) 
while in Europe, the season begins in the middle of June

C) 
when vast stretches of land were frequently covered in snow

D) 
but they're going to change this system so as to be like the rest of the world

E) 
though the modern twelve-month calendar is of little use to them

38-
……….,so the family of the victim were outraged.

A) 
They won their case and the burglar had to go to jail

B) 
The girl completely recovered from the brutal attack

C) 
They were relieved to see the murderer locked up in prison

D) 
The murderer was only given a two and a half year prison sentence

E) 
The judge had given the robber a harsh punishment

39. 
Largely due to the wars that have ravaged the country for more than 20 years, ........

A) 
Afghanistan is today the sixth poorest country in the world

B) 
Afghanistan is in the ideal location for natural gas and oil pipelines from Central Asia

C)  
a British force was annihilated in Afghanistan in 1842

D) 
there are a number of countries in the world that are poorer than Afghanistan

E)  
because the tribes in Afghanistan have always fought one another

40. 
In a famous incident in 1881, the


American ship Ellen Austin encountered 


an abandoned ship ……………
A) 
that no one knew its name

B)  
unless there was no one on it

C) 
which was drifting aimlessly

D) 
whether it had come from South America

E)  
whose crew greeted them joyously

41.
......., excepting only her missing crew.

A) 

When the mysterious ship was boarded, her captain was present

B)  
Until they were able to come up close and board her

C) 
The sailors who went on board the abandoned ship found all in order

D) 
Just like another famous ship, the Mary Celeste

E)  
As if there were not a single soul on board

42. 
Being able to speak English means that you can speak one of the two languages ........

A) 
whether the other one is Arabic

B) 
while the others are not as commonly spoken

C)  
if only you could learn the other one

D) 
which are spoken by more people than any other in the world

E)  
whenever you travel around widely

43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43. 
Why not? The worst she can do is say


"no".

A)  
Do you think Meaghan likes me?

B) 
Who is Stephanie's new boyfriend?

C) 
Will Michelle be at the party tonight?

D)  
Should I ask Lilah to go out with me?

E)  
Can you introduce me to Monica?

44. 
Opinions differ, but quite a lot of people would say James Joyce's.

A) 
Who is your favourite 20th century author?

B) 
Why did the English novel undergo such a revolution in the 20th  century?

C)  
If you were asked to pick the greatest 20th century author, who would you choose?

D) 
Whose novels had the greatest effect on 20th century English literature?

E)  
Have you ever studied the development of the 20th century novel?

45. 
Not now, but I should be free a little later.

A)  
Can you help me with my English homework?

B)  
How often do you visit your mother?

C)  
Have you ever been to Diyarbakır?

D) 
Why didn't you speak to me yesterday on the street?

E)  
How about going out to a cafe tomorrow night?

46. 
Yes, I think you'd better do that right away.

A)  
I've lost my timetable. Have I got a class tomorrow morning?

B)  
Isn't Susan's birthday next week?

C)  
Can I watch TV before I do my homework?

D)  
Have you finished your homework yet?

E)  
Should I write a thank-you note to Terry for my birthday present?

47-50. sorularda, verilen İngilizce cümlenin 

Türkçe dengini bulunuz.

47-
It was not a surprise at all that the film hit box-office records shortly after it was released.

A)
Filmin, gösterime girdikten kısa bir süre sonra gişe rekorları kırması hiç de sürpriz değildi.
B) 
Sürpriz bir şekilde, film gösterime girdikten sonra kısa    sürede gişe rekorları kırdı.

C) 
Filmin gösterimde kaldığı kısa süre içinde gişe rekorları   kırması sürpriz oldu.

D) 
Film kısa bir süre gösterimde kaldı ama sürpriz bir şekilde gişe rekorları kırmayı başardı.

E) 
Sürpriz olan, film çok kısa süre gösterimde kaldığı halde gişe rekorları  kırmış olmasıydı.

48-
The election results have revealed a dissatisfaction with the party in general rather than with the leader himself.

A) 
Hem liderin  kendisine hem de genel olarak partiye karşı duyulan öfke mutlaka seçim sonuçlarına yansıyacaktır.

B)
Seçim sonuçlarının gösterdiği bir gerçekte, sadece liderin değil partinin de genel olarak sevilmediğidir.

C) 
Seçim sonuçları liderin kendisinden çok genel olarak partiye karşı duyulan bir hoşnutsuzluğu ortaya çıkarmıştır.

D) 
Genel olarak seçim sonuçları, sadece partiye karşı olan tutumu değil, liderin sevilip sevilmediğini de belirlemektedir .

E) 
Seçim sonuçlarına göre, liderin kendisine karşı değil partinin geneline karşı bir hoşnutsuzluk vardır.

49-
Shopping by means of television and computers is a recent but rapidly expanding development in the area of marketing.

A) 
Yakın zamanda  çıkmış olan televizyon ve bilgisayar aracılığıyla ürün pazarlama yöntemi hızla yayılmaktadır.

B)
Pazarlamacılık alanında son bir gelişmede alıcıyla televizyon ve bilgisayar yoluyla irtibat kurarak satış yapılmasıdır.

C) 

Pazarlamacılığın süratle yayılan bir kolu da ,ürünlerin televizyon ve bilgisayar yoluyla alıcıya ulaşmasıdır.

D)  
Televizyon ve bilgisayar yoluyla alışveriş, pazarlamacılık alanında yeni ama hızla yayılan bir gelişmedir . 

E)
Pazarlamacılığın yeni bir alanı olan televizyon ve bilgisayar  aracılığıyla alışveriş yönteminde teslimat süratli bir biçimde yapılmaktadır.

50- 
Public opinion polling aims to obtain a close-to-exact analysis of the distribution of opinions on any issue within a specific population.

A) 
Belli bir topluluk içinde herhangi bir konudaki görüşlerin dağılımını öğretmek için yapılan kamuoyu yoklamaları genellikle tama yakın sonuçlar verir. 

B) 
Herhangi bir konuda toplumdaki değişik görüşleri analiz etmek için yapılan kamuoyu yoklamalarının amacı tama yakın sonuçlar elde etmektir.

C) 
Bir konuda toplumun görüşlerini tama yakın bir şekilde belirleyebilmesi için kamuoyu yoklamalarının toplumun değişik kesimlerinde uygulanması gerekir.

D) 
Toplumun çeşitli kesimlerinde hakim olan görüşler kamuoyu yoklamala​rıyla toplanıp analiz edilir ve tama yakın bir sonuca ulaşılır.

E)
Kamuoyu yoklamaları. belli bir toplu​luk içinde. herhangi bir konudaki görüşlerin dağılımının tama yakın bir analizini elde etmeyi amaçlar.

51-54. sorularda, verilen Türkçe cümlenin 

İngilizce dengini bulunuz.

51- 
Çok hücreli hayvanlarda hormonlar büyümeyi düzenler, kasları formda tutar ve benzeri daha bir çok görevi daha yerine getirir.

A) 
In many-celled animals, besides other tasks, hormones are responsible for regulating growth and keeping muscles in condition.

B) 
Keeping muscles in condition, regulating growth and other similar tasks are performed by hormones in many-celled animals.

C) 
Many-celled animals use hormones to regulate their growth, keep their muscles in condition and for several other purposes.

D)
In many-celled animals, hormones regulate growth, keep muscles in condition and perform many similar tasks.

E)

Hormones found in many-celled animals perform many tasks, including regulating growth and keeping muscles in condition.

52- 
Verimli üst toprağı aşındırdığı ve topraktaki mineralleri çözüp götürdüğü için aşırı yağmur zararlıdır.

A) 
When too much rain falls, it harms the soil by eroding the rich topsoil and causing minerals to dissolve.

B) 
Causing erosion of the rich topsoil and dissolving and removing minerals, rainfall has a harmful effect on soil.

C) 
As rain erodes the rich topsoil, dissolving and removing minerals from the soil, too much of it can be harmful.

D) 
Too much rainfall can cause erosion of the rich topsoil and dissolve and remove minerals from the soil.

E) 
Since it erodes the rich top soil and dissolves and removes minerals from the soil, too much rain is harmful.
53- 
Güney Amerika, endüstriyel gelişme bakımından çok geri kalmıştır.

A) 
South America is extremely underdeveloped, particularly in industrial growth.

B)
In terms of development in South America, industrial growth is very slow.

C)
South America is very backward in terms of industrial development.

D)
South America has been held back from developing industries.

E)
Industrial development there is very backward in comparison with the rest of South America

54-
Türkiye'de aktif volkan bulunmadığı halde, ülkenin büyük bir bölümü jeolojik olarak istikrarsızdır ve zaman zaman depremler olmaktadır.

A) 
Though large areas of the country are geologically unstable and there are, at times, violent earthquakes, there are no active volcanoes in Turkey.

B)
Although there are no active volcanoes in Turkey, a large part of the country is geologically unstable, and severe earthquakes occur from time to time.

C) 
The geological instability, which is a feature of large areas of Turkey, gives rise to severe earthquakes from time to time, but the country has no active volcanoes

D) 
Although the volcanoes in Turkey are not active, they do, from time to time, cause earthquakes, making a large section of the country geologically unstable.

E) 
There are no active volcanoes in Turkey, yet violent earthquakes happen now and again in the country owing to the fact that the country is geologically unstable.

55-57.soruları verilen parçaya göre cevaplayınız.

Tennis can be played by two players in singles or by four in doubles. There is a marked-out area, the court, with a long net drawn across the centre. The object of the game is to hit the ball over the net and keep it in play until the opponent loses the point by failing to make a good return. The opposing players hit a ball to each other with rackets. They concede points to the opponent each time they hit the ball into the net, or place it outside the limits of the court. The game is played on grass, called lawn tennis, or on a hard court. Its origins go back to the sixteenth century, and the modern form of the game dates from 1873. Two of today’s most important international tennis championships are Wimbledon and the Davis Cup.

55-
It is clear from the passage that tennis ……… .     

A) 
is better when played on grass than on a hard court

B) 
requires rather expensive equipment 

C) 
is played by either two individual players or two pairs

D) 
is generally a sport of the wealthy

E) 
has changed little since it originated

56- The passage tells us that tennis……….. .     

A) 
was first played sometime in the 1500s

B) 
was perfected by someone called Davis

C) 
was a somewhat informal game until 1873

D) 
was played without rules for centuries

E) 
is played on extremely hard ground

57-
We understand from the passage that, in tennis……… .    

A) 
the rules are not as strict as in other sports

B) 
there are no more than two international tournaments

C) 
people can be seriously hurt when they are hit with rackets

D) 
one player, or pair, wins by the other's mistakes

E) 
players have to make a large number of strikes

58-60.  soruları verilen parçaya göre cevaplayınız.

A submarine is an underwater vessel. A very early type of submarine was built by the American Robert Fulton, but the submarine was not used extensively until World War I, when the Germans built a fleet of U-boats, as they called them, to attack British merchant ships. In World War II, the Germans built an even more formidable fleet of U-boats. A type of one-man or midget submarine was also developed. Today's submarines are powered by nuclear energy, are much faster and can stay underwater for an indefinite period of time. Many are equipped with ballistic missiles which can fire at targets from beneath the waves.

58-
We are informed by the author that modern submarines …….. .    

A) 
are commonly known as U-boats, as Germans call them

B)
are not as dangerous as the ones run on nuclear energy

C) 
are even faster than the fastest ships on the surface

D) 
don't need very large crews because of advanced technology

E) 
are capable of remaining underwater for extended periods

59- 
According to the passage, until World War I, .........  .

A)

the principles of building a submarine was unknown outside of the USA

B) 
the use of submarines was limited

C)
there were no submarines operating efficiently

D) 
merchant ships were at risk during war times

E) 
Germans had failed to have any victories at sea

60-
We learn from the passage that today's submarines …….     

A) 
may have advanced weapon systems included in their designs

B) 
are most effective in seas where there are huge waves

C) 
have been designed to be used by a single person

D) 
have one weakness, which involves the difficulty they have firing missiles through waves

E) 
must come to the surface before firing their missiles

61-63.  soruları verilen parçaya göre cevaplayınız.

The solar system is the name for the Sun, and the planets with their own satellite moons, which revolve around it. It also includes the asteroids, which constitute belt of several thousand minor planets or planetoids, and various comets and meteorites. Nicolas Copernicus was the first to suggest the basic arrangement of the solar system, in contradiction to the previously held belief that the Earth was the centre of the universe. Most astronomers now believe that if our sun can support a system of planets, then it is mathematically probable that many other suns or stars also have planets.

61-
As the passage suggests, our solar system …….. .     

A) 
is unique in the universe in terms of the celestial objects it includes

B) 
consists of much more than a star and a few planets

C) 
is in great danger because of the large number of meteorites

D) 
does not include a planet other than the Earth which harbours life

E) 
is not nearly as orderly as it was previously thought

62- 
According to the passage, before Copernicus, ………. .      

A) 
many other scientists claimed the Earth and planets circled the Sun

B) 
nobody had ever really considered the nature of our solar system

C) 
much of what is known today about the universe was common knowledge

D) 
people used to believe that the Earth was in the middle of the universe

E) 
astronomy was simply the hobby of many uneducated amateurs

63- 
The belief held by many astronomers today is that our sun and its planets……..

A)

are definitely unique in the entirety of all creation

B) 
are probably not the only such system in the universe

C) 
could support many more planets if they had to do so

D) 
are in relation to each other according to mathematical principles 

E) 
cause doubts as to the validity of Copernicus' theory
64-66.  soruları verilen parçaya göre cevaplayınız.

As soon as early men learnt how to write, they developed a way of putting down numbers. The ancient Egyptians used a hieroglyphic  (pictorial) method of representing numbers for counting, weighing and measuring. The Greeks used an alphabetical system: alpha for 1, beta for 2 and so on. The Romans used simple stroke marks for the first three numbers, but for 5, they used a 'V' sign, which may originally have been represented as a hand; 10 was two Vs, linked together as a cross, forming the symbol X. Primitive tribes today still count by fives because there are five fingers on each hand: Eskimos still count in twenties. In the Middle Ages, twenty, known as a score, was a much used number; in fact, we still keep the word 'score' in such games as football, tennis and cricket.

64- 
The best title for this passage would be ……. .      

A) 

The Development of Numerical Systems

B) 

Numeracy and Literacy in the Ancient World

C) 
How Primitive People Learnt to Write 
D) 
Ancient Methods of Counting Surviving Today

E) 
Parallelism in the Numerical Systems of Ancient Civilisations

65- 
It is clearly stated in the passage that .. .

A) 
men learnt to put down numbers before they learnt to write

B) 
all ancient peoples used to count in groups of fives

C) 
only the Egyptians used numbers for weighing and measuring

D) 
all the ancient systems of numbering were almost the same

E) 
numbers were developed shortly after writing systems

66- 
The author states that, in the Middle Ages, ……… .      

A) 

Roman numerals had lost their influence

B) 
football, tennis and cricket were popular pastimes

C) 
people used to count in twenties

D) 
numbering systems developed close to their present forms

E) 
there were still primitive tribes counting by finger

67-69. soruları verilen parçaya göre cevaplayınız.

In 1948, in an effort to stabilise the currency, the Chinese government announced the issue of a new form of currency, called the Gold Yuan Certificate. This measure was necessary because the people had lost all confidence in the old currency, called the Fa Bi.  Inflation had escalated to the point where one US dollar was worth 11 million Fa Bi Official announcements called for all Chinese to turn in their old banknotes, their gold and silver and their foreign currency. Gold Yuan Certificates would be given in exchange, supposedly backed by gold and each worth four to one American dollar. Immediately there was a gold rush, as most private depositors withdrew their precious metals and foreign currency from local banks, because no one with common sense believed that there was any gold to back those certificates.

67-
The writer states that the Chinese government had to issue the Gold Yuan Certificates………

A)

in response to people and banks hoarding foreign currency

B)

owing to financial pressure from American bankers


C)
after the supply of the Fa Bi dropped to an all-
time low

D)
because the people had lost faith in the old currency

E)

in order to compete with the American dollar on an equal basis

68-
We learn that the Gold Yuan Certificates ………. .     

A)
represented gold actually held by the Chinese government

B)
were the invention of the Chinese government's efforts to combat inflation 

C)
were each worth approximately eleven million Chinese Yuan

D)
could be readily exchanged for American dollars at most banks

E)

were intended by the government to be used alongside the old Fa Bi

69-
One may deduce that people rushed to take their valuables out of the bank…….. .    

A)

because they believed the certificates were worthless

B)
in order to buy more gold in the gold rush

C)
because banks were going bankrupt 

D)
so that they could buy Gold Yuan Certificates

E)
because they wanted to buy US dollars

70-72.  soruları verilen parçaya göre cevaplayınız.

Cities are a universal symbol of civilisation. They have been found in every country that has gone beyond a simple agricultural economy, regardless of whether there was industrial or technological development. The history of civilisation is the history of the city. From their origins as places where people gathered for mutual safety or defence, cities have gone on to become marketplaces for goods and ideas, seats of government, and centres of religious devotion. By division of labour and by easing communication between people, cities created the opportunity to invent new technologies and new ways of viewing life. While many individual geniuses have come from rural backgrounds, it has been in the cities that they have found inspiration and scope for their talents.

70- The author argues that cities……… .    

A)
have only arisen in countries that are industrially or technologically developed 

B)

are also centres of agricultural activity and development

C)
are a worldwide phenomenon and have cultural and historical significance

D)
have developed in every country that has had a simple agricultural economy

E)

have created more geniuses than have rural areas

71-
We learn from the passage that initially, cities ………. .     

A)
were simply places where people could find work

B)
were primarily marketplaces where goods were traded

C)
had importance as governments were located there

D)
functioned as places of safety in times of danger

E)
were centres where people gathered for 
religious reasons

72-
The author suggests that geniuses………..     

A)
are almost never found in the country as they 
are of little use in such an environment

B)
eventually come to realise that they are better
off in the stimulating setting of the city

C)
visit cities to get ideas and then return to their houses in more peaceful rural places

D)

have no chance to improve themselves in intellectually uninspiring rural situations

E)

can be born anywhere, but have more 
opportunity to develop their talents in cities

73-75.  soruları verilen parçaya göre cevaplayınız.

One of the strangest sea stories is that of the sailing ship Mary Celeste. On November 5th 1872, she left New York bound for Genoa with a cargo of industrial alcohol and eleven people on board. A month later, she was seen by another ship, but the captain noticed that the Mary Celeste was sailing strangely, and decided to investigate. He found the ship to be completely deserted. The sails were set and in good condition, there was plenty of food and water, all the crew's personal possessions were on board, and there was food and drink on the cabin table. No one has ever been able to explain what happened, though there have been explanations varying from a mutiny among the crew to aliens in a spaceship taking everyone away.

73-
The reason why there was no one on board the Mary Celeste………… .

A)
was discovered by the captain of another ship

B)
is that aliens took the captain and crew away in a spaceship

C)
took several years to be discovered

D)
has never been found

E)
was the mutiny among the crew

74-
The Mary Celeste was sailing strangely 
because…….. .    

A)

there was no one on board to sail the ship

B)
it was not big enough to resist the giant ocean waves

C)
the sails were not set properly

D)
the ship was too heavy because of the crew's personal possessions

E)

her cargo of industrial alcohol was above her capacity

75-
It is clear from the passage that…….. .    

A)
there was a mutiny among the crew

B)
the Mary Celeste was one of the finest sailing vessels of her day

C)
the Mary Celeste was not well equipped for a long voyage

D)
the people on board the Mary Celeste 
disappeared inexplicably

E)
the crew of the Mary Celeste had been hit by an epidemic

76-80. sorularda, verilen cümleye anlamca en yakın seçeneği bulunuz.

76- 
Without his help, the job would have been impossible.

A) 
Even though he was very helpful, we were still unable to complete the project.

B) 
Since he wasn’t able to give us a hand. we didn't believe we would be able to finish the job.

C) 
There's no way the task could have been done if he had not provided assistance.

D) 
The assignment proved quite easy, even though he refused to give us aid.

E) 
Though it wasn't easy, we managed to accomplish our task without his assistance.

77-
The horse has made a greater contribution to civilisation than any other animal.

A) 
No animal has played a larger role in man's social development than the horse.

B) 
Horses have been offering their assistance to man since the beginning of history.

C) 
Without horses, it is somewhat doubtful that civilisation would ever have happened.

D)
Since the dawn of history, man has been exploiting the horse to a great extent.

E) 
Civilisations flourished thanks to many animals that helped man, one of which was the horse.

78-
I'm not so wide-awake as to start work in the morning until I've had my first cup of coffee.

A) 
It's only after I drink my first morning coffee that I feel sufficiently alert to start work.

B)

I like to start the day with a cup of coffee because it aids to remove the drowsiness I feel in the mornings.

C) 
The only work I'd like to do in the early morning is to make myself a cup of coffee.

D) 
If I have to work without drinking a few cups of coffee, I find it really difficult to concentrate on anything.

E) 
A few cups of coffee in the morning just before I start work help me feel better and work more efficiently.

79- 
Far more devastating for the author than the loss of his house to fire was the destruction of the sole copy of his latest novel.

A) 
In his latest book, the author tells of the pain he suffered when he lost his home in a devastating fire.

B) 
Even the destruction of his home in the fire was not as hard for the author to bear as the burning of the manuscript of his new novel.

C) 
The only thing the author was able to rescue from the flames which destroyed his home was the sole copy of his latest book.

D) 
Even more difficult for the author than writing a single book was seeing it destroyed when his house burnt down.

E) 
The author was devastated to find his house burnt down with everything in it, among which was the only manuscript of his latest novel.

80- 
Keeping a stable of horses is a pastime that can be enjoyed only by the very rich.

A) 
Almost all rich people seem to enjoy keeping a stable of horses, which requires quite a lot of money.

B)
Horseback riding is only possible if you have a lot of money.

C)
All wealthy people enjoy showing off their money by keeping a stable of horses.

D) 
For those who are not wealthy, it is impossible to have the pleasure of owning a stable of horses.

E)

Having horses of your own is an extremely enjoyable hobby, but you must be prepared to spend a lot of money.

81 -85. sorularda, parçada bırakılan boşluğu uygun şekilde tamamlayan ifadeyi bulunuz.

81- 
Though generally marked by brief attention periods, nearly all 5-8 year old boys love to fish. Considering the quiet patience successful fishing demands, this is a stunning phenomenon. ………… But, unfortunately, this restrained anticipation is not always rewarded with a catch.

A) 
Fishing is a popular sport because anyone can engage in it, regardless of age, sex or income

B) 
Not every boy, of course, will fit the pattern - some may quickly get bored with the activity

C) 
Perhaps it is the constant possibility of catching something which keeps them interested

D) 
The term still fishing refers to the technique of catching fish without moving from one spot

E) 

The fisherman must always be prepared to leap from his quiet waiting into action

82-
……………. .  We know, for example, that at noon in New York, it will always be five in the afternoon in London. But this is actually a recent development, only 150 years ago, every town and hamlet set their own clocks: judging noon by the local apex of the sun's daily climb. It was the arrival of the railroad which made a coordinated system necessary, as a time difference of only a few minutes between cities might cause a collision.

A) 
It is not always easy to keep track of the time in this global economy

B) 
The world is divided into 24 time zones, and the width of each is about 15 degrees longitude

C) 
Without accurate time keeping, there could be no modern world

D) 
The railroad brought many more changes than just faster transportation

E) 
Today almost all of us are aware of the worldwide system of time zones

83-
Globally, tuberculosis is among the biggest killers of young people and adults. In India, half a million people die from the disease each year. ………….. , when India adopted a strategy known as DOTS, or "directly observed treatment strategy" to combat the disease. DOTS involves an intensive system of monitoring and supervision which tracks the diagnosis, progress and outcome of every patient treated.

A)
However, the death rate has come down dramatically since the 1980s

B)
One reason is that homes often have no chimneys as a way to conserve heat

C)
In Japan, tuberculosis has always been considered an extremely romantic way to die

D)
A chest X-ray can reveal spots, or dots on the lungs, which are an early symptom of tuberculosis

E)
A new strategy can bring down the death rate quite dramatically

84- 
……… : "four bedrooms"; "lots of storage space"; "close to my work"; "low rent"; "a quiet neighbourhood"; "a big yard"; "a scenic view"; and so on. This is because to most people, housing quality obviously means more than simply shelter.

A) 

Many people prefer to have the front door open into an entrance hallway

B) 
Up to the 1930s, it was considered essential to have a separate dining room in a house

C) 
When people are asked what kind of housing they want, the question evokes a variety of answers

D) 
A vital feature of any house is its accessibility to the occupant's place of work, to stores and schools

E) 
The quality of housing available to an individual, a couple or a larger family ultimately depends on their Income

85- 
The first practical photographic process that produced lasting pictures was invented by Louis Jacques-Mande Daguerre, a French painter and physicist. For his invention, he was appointed an officer of the Legion of Honor, and the French government published his process and granted him 6.000 francs annually. …………., and were among the earliest photographic portraits.

A) 
George Eastman was another pioneer in the field of photography

B) 
He used this method to take many photographs of his wife

C) 
He took pictures of many of the most famous people in France

D) 
Prints made by this process were known as daguerreotypes

E) 
The process has not been used for well over one hundred years, however
86-90. sorularda verilen durumda söylenecek sözü bulunuz.

86- 
You try to telephone a friend, but a stranger answers the phone. You ask for your friend and the person says that he doesn't live there. You realise that you've made a mistake; so you apologise, saying:

A)

Well, can I leave a message for him then? He's got my number.

B) 
I'm sorry, but I don't believe you. I wonder why he's avoiding me.

C) 
I'm sorry for bothering you. I must have dialled the wrong number.

D) 
Oh, I didn't know he had moved. Do you know his new number?

E) 
Sorry for calling so late. Do you expect him to be in tomorrow?

87- 
You come home from work one day and as you are trying to unlock your door, you break your key in the lock. At first, you don't know what to do, but then, realising that you have no alternative but to call for professional help, you knock on your neighbours' door and ask them politely:

A) 
Sorry to disturb you so late, but I broke my key and I have no idea what to do.

B) 
Could I move into your place just for one night? I can't get into my flat.

C) 
Do you think you could fix my door? I've got a problem.

D) 
Could I please use your phone to call a locksmith?

E) 
Can I borrow an axe to break down my front door?

88-
Out at a huge shopping centre with her son, Mrs Green spends a lovely day purchasing new school clothes for him. Loaded with bags and ready to head home, she realises she has completely forgotten where she parked the car. Hoping her son can rescue her from hours of wandering the endless aisles of cars, she says:
A)
Please tell me you remember where we left the car this morning.

B)
How could you have been so careless as to misplace the car?

C)
How will we ever make it to the car with all these heavy bags?

D)
I didn’t think about getting back to the car when we bought all these things.

E)
I don’t think we will ever be able to find our car in this sea of vehicles!

89-
Mr. Nash is a corn farmer living in America’s Great Plains. Three straight weeks of drought threaten his newly sewn crops, and he fears that he will be ruined, should rain not come soon. One morning, just as he is about to give hope, he sees thick dark clouds in the horizon. Dashing into the house, he wakes up his wife and children, and says excitedly:

A)
I wish we had planted the corn earlier. We will never get the crop in now.

B)
Seeing as the corn is all right, I can now have breakfast.

C) 
Good heavens, everybody, we’re saved! The rain is on the way!

D)
It looks as if we won’t be able to work for a few days due to rain.

E)
I can’t believe this! If it rains so heavily for a little longer, it will ruin all the corn in the field.

90-
You’ve planned to go on a picnic with a couple of friends, but on the day of the event, you wake up to heavy rain. You realise that if the rain stops, which looks unlikely, the park where you were going will be wet and muddy. You call your friends and suggest an indoor plan:

A)
This is certainly not picnic weather. Why don’t we go to a museum instead?

B)
I don’t understand why you insist on having a picnic when the weather is so horrible.

C)
I don't feel like going on a picnic today. Shall we go to a football match?

D) 
Now that it's raining. I think we'll have to cancel the picnic.

E) 
We haven't had such heavy rain for ages, and it's just on the day we were planning to have a picnic.

91-95. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

91- 
Karl

:……………       

    
Mark
: No, what is it?

       Karl
: Frank and Maria have got 



engaged.

     
Mark
: Oh, really, I didn't even know 



that they were going out.

A) 
Do you have any new gossip for me?

B) 
Guess what I found in the garden.

C) 
Has something terrible happened?

D) 
Do you know what the source of this rumour is?

E) 
Have you heard the latest news?

92-
Lisa
:…………
Mike
: I'm sorry, he's not in at the 


moment.

Lisa 
: Then, can you take a message, 


please?

A) 
Do you have Tim’s home number?

B) 
Can I speak to Charles, please?

C) 
What time does Denny get in?

D) 
Is Mr Parker coming back soon?

E) 
Do you think Tom has arrived at his destination?

93- 
Ralph
: Oh, you've been out. What's the 



weather like?

    
Jerome:……………
      
Ralph
: Well, it doesn't matter if it is not 



cold.

    
Jerome
: I'm afraid it is.

A) 
I simply adore sunny and hot weather.

B) 
Well, I missed the weather forecast this morning.

C) 
They're predicting snow in a few days.

D) 
I didn't go far. I've only been to the garage.

E) 
Not very nice. It's raining really hard.

94- 
Fran
: What are you getting Harry for 



his birthday?

      Stan
: ……………
Fran
: Would you mind if I went in on 


that with you?

Stan
: No, of course not.

A)
I don't know. What are you going to get him?

B) 
I'm no longer on speaking terms with him, but Jill is buying him a book.

C) 
Bill and I are buying him a CD by his favourite singer.

D) 
I haven't been able to decide on anything yet.

E) 
Well, it is not easy to get something for a man who has everything.

95- 
Nurse
: The patient's condition has 



been deteriorating.

     
Doctor
:…………

Nurse
:Of course, they are. You needn't 



even ask.


Doctor:
I’m sorry. I just needed to be 



sure.

A) 
Are you sure he was checked by his doctor before he left?

B) 
Are his medicines being administered on time?

C) 
Have his visitors left or are they still in the room?

D) 
Have you got his pulse rate already?

E) 
Are you accustomed to dealing with a patient in a similar condition to his?

96-100. sorularda, anlam bakımından parçaya uygun olmayan cümleyi bulunuz.

96- 
(I) The cloning of a sheep named Dolly sent shock waves throughout the world this year. (II) But that is only one of a host of advances in biotechnology. (III) Chemical engineers also work in such areas as electronics manufacturing and biotechnology. (IV) The revolution is touching virtually all corners of existence, from conception to nutrition and disease control. (V)These advances in genetic engineering raise questions, however, about how society will control use of the new technology.

A)I

B)II         C)III
        D)IV        E)V

97- 
(I) Alzheimer's Disease afflicts an estimated 4 million Americans, striking equally among men and women of all races. (II) Although most people with Alzheimer's are older than 60, the disease can occur in people in their 40s and 50s. (III) Ten percent of those over 65, and almost half of those over 85, have the disease. (IV) Scientists are hard at work trying to find cures for diseases that affect mankind. (V) It is estimated that the cost of diagnosis, treatment and long-term care for patients with the disease costs American society $100 billion per year.

A)I

B)II         C)III
        D)IV        E)V

98- 
(I)The lion is a member of the genus Leo, which includes the tiger, leopard and other great cats. (II) This genus shares evolutionary origins with domestic cats as is evidenced in their similar structure. (III) Today the only wild lions outside Africa are a few in the Gir Forest of north-western India. (IV) Unlike their domestic cousins, however, lions have no fear of dogs. (V) Both are descendants of the Neofelids, cat-like creatures that existed 40 million years ago.

A)I

B)II         C)III
        D)IV        E)V

99-
(l) To achieve an understanding of the art of Native Americans one must not compare it too directly with Western art. (II) All art, therefore, means different things to different people. (III) Above all, it is important to recognise that what is considered beautiful and artistic by Native American artists is quite different from the norms of Western art. (IV) Thus, any art critic employing the usual Western criteria in an attempt to comprehend Indian art is bound to be unsuccessful. (V) Judged on their own merits, however, Native American artwork reveals itself as an impressive and admirable expression of American Indian culture.

A)I

B)II         C)III
        D)IV        E)V

100-(I) Ten times a normal dose of vitamin A can be deadly. (II)A fat-soluble compound, vitamin A is found in animal foods, especially in liver of land animals or fish. (III) Most of the world's population, however, get their vitamin A from apricots, peaches, melons, mangoes and pumpkins, which are all rich in carotene. (IV) The digestive system transforms carotene into vitamin A. (V) Carotene, and hence vitamin A, is also found in leafy green vegetables like spinach.

A)I

B)II         C)III
        D)IV        E)V
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1-	Cevap kağıdınızda  Yabancı dil bölümüne işaretleyiniz.


2-	Bu testte 100 soru vardır. Cevaplama süresi 150 dakikadır.


3-	Cevaplamaya istediğiniz sorudan başlayabilirsiniz.








PAGE  
12






  GENEL DENEME ‘05/1

